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QUESTION 1

Which point-in-time image can be tied to application events and is created by a user command?
A. Direct Access

B. Virtual Image Access

C. Bookmark

D. Snapshot

Correct Answer: D

Reference: https://education.emc.com/academicalliance/documents/EAA_Content/Exercises/Using%20EMC%20Recov
erPoint%20Concurrent%20Local%20and%20Remote%20for%200perational%20and%20Disaster%20Recovery.pdf

QUESTION 2

A RecoverPoint administrator is failing over a Consistency Group including two non-production copies. What will be the
replication state between the new production and former production when the administrator selects "Set Copy as
Production™?

A. A full sweep is started between the new production and former production

B. A volume sweep is started between the new production and former production

C. A short initialization is started between the new production and former production

D. Replication is paused between the new production and former production

Correct Answer: A

QUESTION 3

A RecoverPoint administrator wants to add volumes from an unlicensed array to a RecoverPoint/EX cluster. Which
supported RecoverPoint volume type(s) addresses the administrator\\'s requirement?

A. Journal and Copy

B. Repository and Journal
C. Repository only

D. Journal only

Correct Answer: C

QUESTION 4
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What is the purpose of the save_settings command?

A. Create a script file that can later be used to recreate the system configuration
B. Modify or configure the RecoverPoint configuration backup interval

C. Preserve the configuration of a RecoverPoint Appliance prior to replacement
D. Commit cluster configuration changes to the repository volume

Correct Answer: A

Reference: https://community.emc.com/thread/124306?tstart=0
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select the copy volume te which the preduction volume above will replicate:

DGL EMC Midrange Steenge FNM00104700162 studersll_14 (128)  60:06:01:60:37:40:29

DGC gc Storage  FNE 04700162 studentll 1B (132} 60:06:01:60:37.40:29 11068
DGC EMC Mdrange Stersge FNMO0104700162 studersll 16 (130} 60:06:01:60:37:40:29 110G8
poc EMC Midrange Sterage FRM00104700162 studcraL1_1S (129)  60:06:01:60:37:40:25 11.0 GB
DGC EMC Mdmange Storage FNMO0104700162 studentll 17 (131) 60:06:01:60:37:40:25 110G3
pec EMC Midrange Storage FNM00104700162 studenkll_13 (127)  60:06:01:60:37:40:29 11.0 GS

A storage administrator is creating a Consistency Group using Unisphere on RecoverPoint/EX. After defining the
production volume and Journal, the next step is to select the copy volume. Based on the exhibit, what determines the
volume size displayed by the wizard as a choice of copy volumes?

A. Volumes that are created on the selected array and masked to the backup host

B. Volumes that are the same size and attached to the selected write splitter

C. Volumes that are masked to the selected cluster and the same size or larger than production

D. Any volume that is provisioned to the selected cluster from the same array type as production

Correct Answer: D
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